Algebra 2 Exam V - Review

ke
Use synthetic substitution to evaluate the polynomial for the given value.
1. P(x)=6x>—-14x+2 for x=2
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Rewrite in standard form. Identify the degree of the polynomial, leading coefficient, and the number of terms.
2. 3x-5x*+14+2x°  Standard Form 2K’ -5k*t 3K +1Y
Lead Coefficient 2 Degree _ 2 Number of Terms ?l:
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3. 2x*-3+7x° +3x* —14x Standard Form 7#5*'3“‘1‘ 2) =l x =3
Lead Coefficient 77 Degree & Number of Terms __ 4

Add or subtract. Write your answer in standard form.
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4. (6x-32+5x7)+(14x° ~17x+8) —~ ]%%3+§XZ\-“X~24

5. (X*-4x+3)-(3x’+7x-6) = ..Z)('f///)( +4

Multiply. Write your answer in standard form.
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8. (x+4)’ = ()(4*-/)(2(’7“()0(*‘/)
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Divide the following polynomials using an appropriate method. , i
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10. (2x* —6x* +3x+6) =+ (x—2) 4
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9. (2432 =2x-6)=(x* ~1)
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11. When the remainder of a polynomial division is zero it means that the divisor is a
LA c<2/__of the polynomial.







